
r 23 l I BI 

'+lllf - IV/ PART - IV 

ft I MATHEMATICS 

~T : f;tk-ff?lf&rt JT~W c#- Jr{( # ~ iwr "fW?l" Cffelff" ~ ~ I 
Direction: Answer the following questions by selecting the most appropriate option. 

91. 'A' ~ cnf9" ~ 2 ~ if ~ cRcTI % 
~ ~ cnf9" ~ 'B' 3 ~ if ~ · cITTm 

~ '3tr{ 'C' ~ 1I{T cnB if 4 ~ WIT % I 
~ a; ~-m~ cnrq ~ '3tr{ ~ cfil9" cfi 
~ 3900 ~ ~ ~ I cTT 'B' ~ ~ 
~ ~ m- ? 

(1) 1800 ~ 

(2) 1200 ~ • 

(3) 900 ~ 

(4) 800 ~ 

92. ~ M tR q)f ~ ~-~ s % ~ 
V ~ ~ %, cTT ~9RJRsla if "ff 
c5A-m ~ mft % ? 

V
3 

= 216 s 2 . j 2 
(1) (2) S = 216V • 

3 2 
S

2 
= 36. V 

3 
(3) S =6V (4) 

91. 'A' complete a job in 2 days and 'B' 

completes it in 3 days and 'C' completes 

it in 4 days. If they work together and 

get Rs . 3900 for the job, then how much 

amount does 'B' get? 

(1) Rs. 1800 

(2) Rs. 1200 

(3) Rs . 900 

(4) Rs . 800 

92. If S is the total surface area of a cube 

and V is its volume, then which one of 
the following is correct? 

3 2 3 2 
(1) V = 216S (2) S = 216 V 

3 2 i 3 (3) S = 6 V (4) S =36 V 

'{t6 ~ cf; ~ ~/SPACE FOR ROUGH WORK 
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[ B] 

93. ~ tan 88 = cot 28 l ~ 0 < 80 < 2:. , 
2 

ill tan 58 cf>T l=fFl" cp:jT %' ? 

1 
(1) ✓3 

(3) ✓3 

(2) 1 , 

(4) 0 

94. "£9: \:.J11,J.Jcf> ~ a, a, b, b, c, c ~ 
a < b < C %', ~ fP--1 HH lTTar, ~ lTTar 

'3rR ~ ~~T: '!_ , 2, 2 ~ I "ff~ 8": 
3 

tf&TT '3TT cTi q7TT cf>T ~ cp:jT ~ ? 

(1) 40 

' (3) 45 

(2) 42 · 

(4) 48 

. 95. >l"l!:11--1" IO .~-i'i0 1fcfi1 cf>T, ~ ~ WIB 
B&TT'3TT cTi ~ ~, ~ lTTar cFlT %' ? 

(1) 7 . 

(3) 5 

(2) 5.5 

(4) 4.5 

[ 24 I 

TC 
93. If tan 88 ~ cot 28, where O < 80 < 2, 

then what is the value of tan 50 

(I) _l 
✓3 

(3) ✓3 

(2) 1 

(4) 0 

94. The arithmetic mean, geometric mean 
and median of six positive numbers 

7 
a, a, b, b, c, c where a < b < c are - , 2, 

3 
2 respectively. Then what is the sum of 
the squares of all the six numbers ? 

(1) 40 

(3) 45 

(2) 42 

(4) 48 

95. What is the weighted mean of first 1 O 

natural numbers whose "veights are equal 

to the corresponding number ? 

(1) 7 

(3) _5 

(2) 5.5 

(4) 4.5 

"{to cWl. i ~ i;flffi'JSPACE FOR ROUGH WORK 

Al \ 
~ ( \ .f 'v; ) 
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l 2s 1 l B ) 

96. 16 ~ cfi ~ Pi~ it iq ~ qRt ~ 96. 16 litres of a mixture contains milk and 

~ 5 : 3 ~ I ~ ~ Pi"~ it 4 ~ water in the ratio 5 : 3. If 4 litres of milk 

~q ~ ~ ~ ~, "ill ~ Pi".l!,fOT it is added to this mixture, the ratio of milk 

~ ~ 'qr-ft "ff ~ ~ 'ITT7TT ? to water in the new mixture would be : 

(1) 2 : 1 . (2) 7 : 3 · 

(3) 4 : 3 (4) 8 : 3 

.97. 1Zco oqrqrtt ~ f1l~fch~ ~ 1188 M if 

~ ~ ~ ~ qr 10% cfif ~ cf~ 

~ qr 10% 911 mf1° ~ %' I ~ G"r 

&q lfT mf1° cfif ~~IB fchcAT %' ? 

(1) 1% mf1" ~ 

(2) 1% ~ 

(3) 2% m 

(1) 2 : 1 (2) 7 : 3 

(3) 4 : 3 (4) 8 : 3 

97. A trader sells two cycles at Rs. 1188 

each and gains 10% on the fir~t and · 

loses 10% on the second. What is the 

profit or loss percent on the whole ? 

(1) 1 % loss 

(2) 1 % gain 

(3) 2% loss 

(4) No loss no gain 

~ q;rf c6 ~ ~/SPACE FOR ROUGH WORK 

l ( 

Level-2/3210 
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98. ~ ~ ~ ~ ~ ~~T: 5 ~ '3-tR 
7 ~ B ~~~I~~ '3"B 3 

~i:f~cn{w:omi1aj?;cfr<TT~ 
Bm~lm~~m? 

(1) 60 ~ 

(2) 85 ~ 

(3) 90 ~ 

(4) 105 ~ , 

99. 8(x5 
- x3 + x) '3-tR 28(x6 + 1) 9?l" HCF 

(Bo ~o q-o) ~ i ? 

(1) 4(x4 -x2 +1) ~ 

4 ., 
(2) 2(x -x- +l) 

(3) (x4 
- x 2 + 1) 

126 I 

98. Two taps can fill a tub in 5 minutes and 

7 minutes respectively. A pipe can 

empty it in 3 minutes. If all the three are 

kept open simultaneously, when will the 

tub be full? 

(1) 60 minutes 

(2) 85 minutes 

(3) 90 minutes 

(4) 105 minutes 

99. What is the HCF of 8(x5 
- x

3 + x) and 

28(x6 + 1) 

(1) 
4 ? 4(x - x- + 1) 

(2) 4 2 2(x -x +l) 

(3) (x4 - x2 + 1) 

(4) None of the above 

~ ffi cf; ~ ~/SPACE FOR ROUGH WORK 

Level-2/321 O 
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100. ~ 8400 ~ en;, cllfc@lfi A, B ('Tm C 

if½:~ :/
0 

~'3~itrct~~ 

~ ' ill A 9?l fcRAT ~ m<TT ? 

(1) 1800 ~ 

(2) 3000 ~ 

(3) 3600 ~ -

(4) 4000 ~ 

101. ~ ~ ~r' 16% ~ 'clfficJ.~ ~ ~ 

G{ "B 7500 ~ \j~ ~ I ~ ~ ~ 

~q"{~~~~~~ 
~ ~ -&rrt ? 

(1) 9900 ~ (2) 10092 ~ · 

(3) 11000 ~ (4) 11052 ~ 

102. (2.3)
3 

- 0.027 col" l=fR cF1T i ? 
(2.3)2 + 0.69 + 0.09 

(1) 0.3 

(3) 1 

(2) 2.3 

(4) 2 . 

[ 2_7 ] [ B] 

100. If Rs. 8400 is divided among A, B and 
1 1 1 h . h C in the ratio - : - : - , w at 1s t e 
5 6 10 

share of A? 

(1) Rs. 1800 

(2) Rs. 3000 

(3) Rs . 3600 

(4) Rs. 4000 

101. A person borrowed Rs. 7500 at 16% per 

annum compound interest. How much 

does he have to pay at the end of 2 years 

to clear the loan ? 

( 1) Rs. 9900 (2) Rs. 10092 

(3) Rs . 11000 (4) Rs. 11052 

3 
102· What is the value of-(:...._2__;·3)=----0_.0_27_ 

(2.3)2 + 0.69 + 0.09 

. (1) 0.3 

(3) 1 

(2) 2.3 

(4) 2 

"{tf; cnf4 ~ ~ ~/SPACE FOR ROUGH WORK 

j)::- I-

Levet-2/321 o P. T.0. 
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[ B ] [ 28] 

103. ~ Wil-tj( ~ 9iT !.ler:f 9G -2 ffeTT 103. The first term ofan A.P. is-2 and 11th 

11 cIT 9G 18 i I ~ l 5cIT CfG sf@ term is 18. find its 15th term : 

~: 

(1) 24 

(3) 26 

(2) 25 

(4) 27 

104. 3 Wlt ~ cf@ ~ lffi c6 ~ ~ ~ 
40° 9IB m ~-was cnR ~ i1 ~ 
~ 9iT ~ ~ i ? (7t = 22 ~) 

7 

(1) 11 B'llt2 

(3) 33 Wlt2 

(2) 22 wtt2 

(4) 44 wtt2 

105. ~ (m 9iT m¾) + (~ 9iT n¾) = mn 9iT 

2% 'ITT, m n, m 9iT fcRRT im,~m i ? 

(1) 50% 

(2) 75% 

(3) 100% 

(4) ~ ~ ·'6 c6f(Uf sf@ .,tr~ 

ull"tfcnffi ' 

Level-2/321 O 

(]) 24 

(3) 26 · 

(2) 25 

(4) 27 

104. From a circular piece of cardboard of 
radius 3 cm, two sectors of 40° each 
have been cut off. The area of the 

. . . . U 22 
remammg portion 1s : ( se 7t = - ) 

(1) 11 cm2 

(3) 33 cm2 

(2) 22 cm2
,. 

(4) 44 cm2 

7 

105. If (mo/o of m) + (no/o of n) = 2% of (nm), 

then what percentage of mis n? 

(1) 50% 

(2) 75% 

(3) 100% 

(4) Cannot be determined due to 

insufficient data 
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~ l+x 1- x · 
106. °{1l-fich< 01 5 + 5 = 26 -cfil • ffi 

~ X ~ l=fR ~-ft i? 

(1) -1 , 1 (2) 0, 1 

(3) 1, 2 (4) -1 , 0 

107. fcliBT ~ ~ ~ tr· cf% ~ qz ft~ 
m ~'3TT P '3ftr Q ~ , ~ · ~ ~ ~ 
100(3 - ✓3) 1ft i , ~ ~ ~TW{ ft 

108. 

~ cfilOT ~~T: 45° '3ffi 60° i I 

~~~cFlri? 

(1) 200 1ft 
(2) 250 1ft 
(3) 300 1ft · 
(4) (N~ if ft~~ 

~ '3w:rc; 9?1", ~ ~ 144 ftlft2 ~ 
~ i '3lIT 'Pfl"'3TT if ~ 4 : 9 i , 
~ cFlT i ? 

[ 29] 

06 The value of x which sati sfy the 1 . 
. I +x I - x 

equation 5 + 5 = 26 are : 

(1) -1 , 1 . 

(3) 1, 2 -

(2) 0, 1 

(4) -1 , 0 

107. From the top of a tower, the angles of 

depression of two objects P and Q 

(situated on the ground on the same side 

of the tower) separated at a distance of 

100(3 -✓3) m are 45° and 60° 

respectively. The height of the tower is : 

(1) 200 m 

(2) 250 m 

(3) 300 m 

(4) None of the above 

108. The perimeter of a rectangle having 

area equal to 144 cm2 and sides in the 

ratio 4 : 9 is : 

(1) 52 ~ . 

(3) 60 ~ 

(2) 56 ~ · (1) 52 cm (2) 56 cm 

(4) 64 ~ (3) 60 cm (4) 64 cm 

Level-2/321 o P. T. O. 
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[ B] 

109. * ~ ~ qftfq, err ct~ ct~ 
m, cTT f.,9~ftm1 it cJit.=f-m rrft ~ ? 

c1) ~ cfiT ~ = err cfiT ~ 

c2) ~ cfiT ~ > err cfiT ~ • 

(3) T'f cfiT ~ < err cfiT ~ 

( 4) -3qgcffi it ~ ~ -m 

110. * · a + b + c = 6 ~ a2 + b2 + c2 = 26, 

m ab + be + ca ~ ~ ~ ? 

(1) 0 

(3) 2 

(2) 4 

(4) 5 , 

111. ~ f?lch)~~ mr ~ ~ 41 BtTT; 40 BtTT 
'3TR 9 BrTT ~I~ ffif it~~~ 
~lft~i ~ ~ '11T Wmft ~I ~ ~ 
~~mcfil"~9oo~~ 
\If'~ ~ Jllq~~ i ? 

(1) 2000 , 

(3) 900 

(2) 1800 

(4) 800 

[ 30] 

109. If the circumference of a circle is equal 

to the perimeter of square, then which 

one of th~ _following is correct ? 

(1) Area of circle = Area of square· 

(2) Area of circle > Area of square 

(3) Area of circle< Area of square 

(4) None of the above 

110. If a + b + c = 6 and cl + b
2 + c

2 
= 26, 

then what is ab + be + ca equal to ? 

(1) 0 

(3) 2 

(2) 4 

(4) 5 

111. The sides of a triangular field are 41 m, 

40 m and 9 m. The number of rose beds 

that can be prepared in the field, if each 

rose bed, on an average, needs 900 cm2 

space, 1s : 

(1) 2000 

(3) 900 

(2) 1800 

(4) 800 

ref; ffi cf; ~ ~/SPACE FOR ROUGH WORK 

Level-2/3210 

.-;:.- ~C\ 

-iCf y 

\ 
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112. ~ a , ~' y ~ ~ ~ ~ fcFi 
. ✓3 ✓3 

sma = 2,cos~ = 
2 
~ tan y = 1, 

ma+~+y~~%-? 

(1) 105° 

(3) 135° . 

(2) 120° 

(4) 150° 

113. tl91rci{ ~ 2 , 4 , 6 , 8 , 10, .... .. .. .. .. cf) 

J;l'~ fc'.ncR ~ cf?]' ~1•11.fi(i'I 210 m7TT ? 

(1) 11 

(3) 13 

(2) 12 

(4) 14 

114. ~ -awR, ~ ~ ~ 3600 ~if~ 
~ 20% cf?T ~,q ~ I ~ ~ m-
~ cffi" 3150 ~ it ~ mw, m ~ 
~~~mm? 
(1) 4% 

(3) 6% 

Level-2/321 O 

(2) 5% · 

(4) 10% 

[ 31 ] [ B) 

112. If a , ~' y are acute angles such that 

. ✓3 ✓3 
sin a = - , cos~ = - and tan y = 1, 

2 2 
then what is a+~+ y equal to : 

(1) 105° 

(3) 135° 

(2) 120° 

(4) 150° 

113. How many the first terms of the A.P . 

2, 4, 6, 8, 10, . ......... .. are needed to 

get sum 210? 

(1) 11 

(3) 13 

(2) 12 

(4) 14 

114. A person sold an article for Rs . 3600 

and got a profit of 20%. Had he sold the 

article for Rs . 3150, how much profit 
would he have got ? 

(1) 4% 

(3) 6% 

(2) 5% 

(4) 10% 

P. T.O. 
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115. ~ x+ y+z=O, cTT xyz 
(x+ y)(y+z)(z+x) 

116. 

~ ~ ~ ? (\JfITT X ,f:: -y, y ;f:: -z, 
z ,t::-x) 

(1) -1 

(2) 1 

(3) xy + yz + zx 

cos2
( 45° + 0) + cos2

( 45° -0) 

tan(6O° + 0)tan(3O° -0) 

~ : 

(1) -1 

(3) 1 

(2) 0 

(4) 2 

111. ~ M ~ ~ 20% c5t W qr ~ 

~ t fil ~ ~ ~ ~o 24 ~ I 

30% cfit ITT: -&Fl qr ~ ~ ~ 
"' 

~ N1Tl ? 

[ 32] 

115. If x+y+ z =O, then what 1s 

xyz equal to ? (where, 
(x+ y)(y+z)(z+x) 

X ;f:: -y, y ,f:: -:-Z, Z ;f:: -X) 

(1) -1 

(2) 1 

(3) xy + yz + zx 

(4) None of the above 

116. What is the value 

cos2
( 45° + 0) + cos2 

( 45° - 0) 

tan(6O° + 0) tan(30° - 0) 

(1) -1 

(3) 1 

(2) 0 

(4) 2 

of 

117. When an article is sold at 20% discount, 

the selling price is Rs. 24. What will be 

the selling price when the discount is 

30%? 

(1) t 25 

(3) t 21• 

(2) t 23 (1) Rs. 25 (2) Rs. 23 

(4) t2O (3) Rs.21 (4) Rs.20 

~ ifil'I if; f.!it "l'Ti;/SPACE FOR ROUGH WORK ~ A 1vfP 
<J-'° '/, -::-~ 

Lcr' 

Level-2/321 O 
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[ 33 ] [ B ] 

118. ~ c6 J.l{1CTlch{ 0 1 ctr qci:9:~ lf[ ~ ~ ? 118. Methods of presentation of data are : 

(I) ~ fll{follli (I) Tables only 

(2) ~ ~ (2) Graph only 

(3) ~ ~ (3) Diagrams only 

(4) 3qgcffi B'4T (4) All of the above 

119. ~~ m ~ 9)f ~ ~ ~, ~ ~~ 
cfi ,3Tim-{" 9)f c2:lffi, ~ c6 c2:lffi c6 ~ 
m, ~ ~~ ctr ~ cnr ~ c6 a:rm B 
~m7Tf : 

(I) 2 : 1 · (2) 1 : 2 

(3) 3 : 1 (4) 4 : I 

120. 7 w:fi x 4 ~ fcr:rr c!@T tzcf) '3-lllldlc./?I{ 

~ c./?T ~ ~ c6 qffif: qR¢n1-1°1 

m B tzcfl ~ m ~, ~ ~ 
f¥rm~cnr'3wrc=R~~? 

(I) 352 ~
3 

(2) 296 ~
3 

(3) 176 w:Tt3 
(4) 616 ~

3 

Level-213210 

119. The volume of a cone is equal to that of 
a sphere. If the diameter of base of cone 

is equal to the diameter of the sphere, 
what is the ratio of height of cone to the 

diameter of the sphere ? 

(1) 2 : I (2) 1 : 2 

(3) 3 : I (4) 4 : 1 

120. A figure is formed by revolving a 

rectangular sheet of dimensions 7 cm x 4 cm 

about its length . What is the volume of 

the figure thus formed ? 

(I) 352 cm3 (2) 296 cm3 

(3) 176 cm3 (4) 616 c·m3 

P. T. O. 
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I 34 I I B] 

121. ~ t§J?T cffi" M B"&-lT cffi" 25 B TIT 121. 

m ~ ~ w ~, m=A ~ ~ cffi" 

A student was asked to multiply a 

number by 25. He instead multiplied the 

number by 52 and got the answer 324 
more than the correct answer. The 

number to be multiplied was : 

25 ~ ~ CR" 52 B, TIT co1 m Jll1 
~ '3"m,. 00 '3"m ~ 324 ~ eTT I 

~~~:fll~'1fRTeTT, q"gcFlf 

i ? 
(1) 12 · 

(3) 25 

(2) 15 

(4) 32 

122. w1"icb{ 0 1 x2 -2x+4=0 ~~cf;~ 

~ q@l B9"1cb<0
1 ~ -m i ? 

123. 

(1) x2 - 2x + 4 = 0 

(2) x2 - 2x + 16 = 0 

(3) x2 -4x+8=0 

( 4) x2 
- 4 X + 16 = 0 

~Mf3f~ir,~~r,r~ir, 
~ ctr ~ ~ ~ cfil ~ cfil 
~ i , fil PJ9~f@a if "B cfiR-tIT ~ 
mt i ? 
(1) f3f~, fP-lc/51°1 f3f~ i I 

(2) f3f~, B~f&<Stl~ f3!"~ i I 
(3) f3f~, ~ i?f~ i I 

(4). if B ~~I 

(I) 12 

(3) 25 

(2) 15 

(4) 32 

122. The equation whose roots are -twice the 

roots of the equation x2 
- 2x + 4 = 0 is : 

(1) x2 
- 2x + 4 = 0 

(2) x2 
- 2x + I 6 = 0 

(3) x2 -4x+8=0 ' 

(4) x2 -4x+I6=0 

123. If for a triangle, the radius of the 
circumcircle is double the radius of the 
inscribed circle (incircle), then which 
one of the following is correct ? 

(I) The triangle is a right angled. 

(2) The triangle is an isosceles. 

(3) The triangle is an equilateral. 

(4) None of the above. 

~ ffi cf) ~ ~/SPACE FOR ROUGH WORK 

Level-2/321 O 
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[ 35] [ B] 

124. f14lcb{ 0TI x + 2y = 13 '3ll"{ 3x + 6y = 9 er; 124. The system of equations x + 2y = 13 and 

mrl : 3x + 6y = 9 has : 

(1) cj;f ~ ~ i I (1) Unique solution. 

(2) cj;f ~ ~ ~ i I (2) No solution. · 

(3) cf; ~ '3r-Rf ~ i I (3) Infinitely many solutions. 

(4) cf;~ 'fi"&TT ~ ~ i I (4) Finite number of solutions. 

125. AD qep ~ cj;f a:rrn '3lR AB qep ~ i I 

~ AD=34 M, AB=3o M , m ~ er; 

~"BABctt~~i : 

125. AD is a diameter of a circle and AB is a 

chord. If AD = 34 cm, AB = 30 cm, then 

the distance of AB from the centre of the 

circle is equal to : 

(1) 8 Ml 

(2) 10 Ml 

(3) 15 Ml 

(4) 17 Ml 

level-2/3210 

(1) 8 cm • 

(2) 10 cm 

(3) 15 cm 

(4) 17cm 

\'C6 ffl cf;~ ~/SPACE FOR ROUGH WORK 

P. T. O. 
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( B ] [ 36 1 

126. ~ p = tan 2 x + cot2 x t cTT f.11-.-1RtRslt1 126. If p = tan 
2 

x + cot
2 

x , then which one 

if ft ~ -BT C% Btt i ? of the following is correct ? 

(1) ps2 (2) p ~ 2 ' 

(3) p < 2 (4) p > 2 

121. en~ cf,T ~ cn1 ~ 2 3 %1 

~~cf,T~~i? 

(I) 2 : 3 (2) 4 : 9 

(3) 1 : 3 (4) 8 : 27 

128. M ~ ~~ cf,T ~ ✓3 wft ~ I 

~qfti:rrqcFlri? 

( I ) 3 ~ (2) 3✓3 wft 

(4) 6✓3 wfr 

(1) ps2 (2) p ~ 2 

(3) p < 2 (4) p > 2 

127. The circumference of two circles are in 

the ratio 2 : 3. What is the ratio of their 

areas ? 

(1) 2 : 3 (2) 4 : 9. 

(3) 1 : 3 (4) 8 : 27 

128. If the altitude of an equilateral triangle 

is ✓3 cm, then what is its perimeter? 

( 1) 3 cm 

(3) 6 cm 

(2) 3✓3 cm 

(4) 6✓3 cm (3 ) 6 ~ -------~~-____! __________ 4-7 
\'li q;r4 °c6 ~ ~/SPACE FOR ROUGH WORK // -

'i~ 
~ ) 

r{f 

Level-2/321 O 
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I . 

129. ~ ~ fP-11ch< 0 1 7x2 -50x + k = o cf> 

~it~~7%",filkchfl=JRcF1Ti? 

(1) 7 (2) 1 

(3) 5½ (4) ½o 
130. ~ A=¾ '3lR B=½ , ill f;i9~fu4a 

ch~ qr ITTrr ~ : 

I. sin A + sin B = cos A + cos B 

II. tan A + tan B = cot A + cot B 

• ch~ it B ~-m1B mft i/t ? 

(1) ~ I 

(2) ~ II 

(3) I JltT II~ ~ 

(4) ~ fil I '3lR ~ ~ II 

[ 37] [ B ] 

129. If one of the roots of quadratic equation 

7x2 - 50x + k = 0 is 7, then what is the 

value of k? 

(1) 7 . 

(3) 5½ 
(2) 

(4) ½o 
130. If A = % and B = ·½ , then consider 

the following statements : 

I. sin A + sin B = cos A + cos B 

II. tan A + tan B = cot A + cot B 

Which of the above statements is/are 

correct? 

(1) Only I 

(2) Only II 

(3) Both I and II 

(4) Neither I nor II 

"{tf; q;rf ~ ~ ~/SPACE FOR ROUGH WORK 

Level-2/3210 
P.T. 0 . 
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131. ~ ABC ~ ~Jn cfi t:f&r-~Jn cfiT 
~q-t~~DEF%1~~ 
~ DEF ~ ~Jn cfi t,t<l ~Jn cfiT 
~ q-t ~ fsr:F PQR %1 ~ ~ 
PQR ~ ~Jn ~ ~ 4, 2 Jtr{ 3 

~ l m ~ ABc cfif ~ ~ 
i ? 

(1) 18 ~ 

(2) 36 ~ 

(3) 48 ~ 

(4) ~ ~ cfi ~ f.!rmfu; ~ 
~~~ 

132. tf&TT .Jo.ooo 1 : 

(1) 0.01 Bmtt~~~%1 

(2) ~ ~ tf&TT % I • 

(3) ~ ~ tf&TT i , 

c-i ) ;,- m ~ ~ ~ '3ffi" ;,- tr ~ 
~tl"&TTI 

I 38 I 

131. A ~DEF is formed by joining the mid 

points of the sides of ~ABC. Similarly, a 

~PQR is formed by joining the 

midpoints of the sides of the ~DEF. If 

the sides of the ~PQR are of lengths 4, 

2 and 3 units , what is the perimeter of 

the ~ABC? 

(1) 18 units 

(2) 36 units 

(3) 48 units 

(4) Cannot be detem1ined due to 

insufficient data 

132. The number .J0.0001 1s : 

( 1) a rational number less than 0.01 . 

(2) a rational number. 

(3) an irrational number. 

( 4) neither a rational number nor an 

iJTational number. 

~ ffi cfi ~ ~ /SPACE FOR ROUGH WORK 
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2 7 14 
(~ tP-JlqcJf4) 133. -,- crey - cor LCM 

3 9 15 
cFTI"~? 

(1) 
7 

3 

(2) 
14 -
3 

(3) 
2 

3 

(4) 
1 

3 

134. ~ fulJl,=n ~ 01~ m-~ BllR 

~~~~~~~if i1 ~m ~ c:t 

'3TT~ - 9)f ~ 12 w=lT i cl~ -~ 

8 w=lT i, ~ 9Jf ~ ~-~ cFTI" 

i ? 

(1) 132 n BBt2 

(3) ' 96 ~ BBt2 

2 
(2) 112 n B"4T ' 

( 4) 66 7C B-4T2 

[ 39] 

2 7 14 
133. What is the LCM of - , - and -

3 9 15 

7 
(1) 3 

14 
(2) 3 

(3) 2 
3 

(4) 3 

(BI 

134. A toy is in the form of a cone moun~ed 

on the hemisphere with the same radius . 

The diameter of the base of the conical 

portion is 12 cm and its height is 8 cm. 

What is the total surface area of the toy ? 

(1) 132ncm2 

(3) 96 n cm2 

(2) 112 n cm2 

(4) 66 n cm2 

"{'Cp cf»lf cf; ~ ~/SPACE FOR ROUGH WORK \ ~ 

- 9-'f1 -f-/5,,_ J_-;pr-
g 
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l Bl 
135. f.1~~fum cl)~ err~~ : 

I. x3 + 2x2 + 3x + 8 cffi j 011©0:S x + 3 
i1 

II. x3 + 2x2 + 3x + 8 cf)] j 0 11© 0.s x - 2 
i1 

Jqgcffi cl)~ if "B ~-m 1"B rrlt i 1~ ? 
(1) cfic@ I 

(2) cfic@ II 

(3) I ~ II ~ 

(4) ;, m I ~ ;, tr II 

136. qg ~ B"&TT, ~ 13850 '3tr{ 17030 

~ ·!Cf~ ffl ~ '3tr{ ~ 17 ~ 

t c.FlT~? 

(1) 477 

(2) 159 

(3) 107 

(4) 87 

[ 40] 

135. Consider the following statements : 

I. x + 3 is the factor of x3 + 2x
2 + 3x + 8 . 

· 3 2 
II. x- 2 is the factor ofx +2x +3x+8 . 

Which of the statements given above . 

is/are correct ? 

(I) Ionly 

(2) II ·only 

(3) Both I and II 

(4) Neither I nor II 

136. What is the greatest number that divides 

13850 and 17030 and · leaves a 

remainder I 7 ? 

(I) 477 

(2) 159 

(3) 107 

(4) 87 

~ ffi cfi ~ ~/SPACE FOR ROUGH WORK 

Level-2/3210 
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137. 

138. 

cot 150 cot 200 cot 700 cot 750 9?f "9'Ff 

cFTT t ? 

(1) -1 

(2) 0 

(3) 1 

(4) 2 

0.324 X 0.64 X 129.6 
cnf~~~? 

0.729xl.024x36 

(1) 4 

(3) 2 

(2) 3 

(4) 1 

139. ~ I+i=.i_ * 4 
+2-=E , ~ 

x y xy x y xy 

X :;t: 0, y :;t: 0 N, ill X + y cnf cp:fT 1=lFf ~ ? 

(1) 2 

(3) 4 

(2) 3 

(4) 8 

l 41 I 

137. 

138. 

139. 

[ B ) 

What is the value of cot 15° cot 20° 

cot 70° cot 75° 

(I) -1 

(2) 0 

(3) 

(4) 2 

What . is the square 
0.324 X 0.64 X 129.6 

Q.729 X 1.024 X 36 

(1) 4 

(3) 2 

(2) 3 

( 4) 1 

root of 

2 3 9 4 9 21 
If-+-=- and -+-=- , where 

x y xy x y xy 

x :;t: 0, y :;t: 0, then what is the value of 
x+y 

(1) 2 

(3) 4 

(2) 3 

(4) 8 

\tn ffi cf; ~ ~/SPACE FOR ROUGH WORK 

Level-2/3210 
P. T.O. 
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[ B] 

140. f.:l~~ffsle1 cne.r-n q{ ~ ~ : 

I. 7710312401, 11 B fcf~ % I 

II. 173 ~ -3'.f~ ~ i, 

(1) cfic@ I 

(2) cfic@ II 

(3) I '3m II~ 

(4) -;, m I '3m -;, t1- II 

141. ~ 7cos2 0+3sin2 e = 4 '3ffi 0 < e < 2 /· 
2 

ffltan8cnTllFfcp:JTm7TT? 

(1) ✓7 

(3) 3 

(2) ½ 
(4) ✓3 

142 l 

140. Consider the following statements : 

I. 7710312401, is divisible by 11. 

II. 173 ·is a prime number. 

Which of the statements given above 

is/are correct ? 

(1) I only 

(2) II only 

(3) Both I and II 

(4) Neither I nor II 

141. If 7 cos2 8 + 3 sin 2 8 = 4 and 0 < 8 < 1t 
2 , 

then what is the value of tan 8 

(1) ✓7 

(3) 3 

(2) ½ 
(4) ✓3 

. rCfi ffi cfi ~ ~/SPACE FOR ROUGH WORK 
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142. {(1-sin 2 0)sec2 0 + tan 2 0}(cos2 e + 1), 

~ 0° < e < 90° c'.fiT "'1A i : 

(1) 2 

(2) >2 

(3) <2 

(4) '34{1c.@ if ~ ~ ~ 

143. ~ ~ ~ ~ c6)- ~ 'a' l m 
~~c'.fiT~~i : 

(1) 
3a2 

-
2 

(2) 
✓3a2 
--

2 

(3) 
J3a2 --

4 

(4) ✓3a2 

I 43 l [ B] 

142. What is the value of 

{(l-sin2 0)sec2 0+ tan 2 0}(cos2 0 + 1), 

where 0° < 0 < 90° 

(1) 2 

(2) >2 

(3) <2 

(4) None of the above 

143. If side of an equilateral triangle is 'a', 

then area of this triangle is equal to : 

(1) 
3a2 

2 

(2) 
✓3a2 
--

2 

(3) 
..fia2 
--

4 

(4) ✓3a2 

'{Cl; ffi cf;~ ~/SPACEFORROUGHWORK. 
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• 
I 

[ B ] I 44 I 

144. 1421 x 1423 x 1425 cffi" 12 B ~ 144. What is the remainder obtained when 

ffi qz ~ cF1T % ? 1421 x 1423 x 1425 is divided by 12 ? 

(1) I (1) 

(2) 2 (2) 2 

(3) 3 (3) 3 

(4) 4 (4) 4 

145. (1723 + 23 23 + 29
23

) cffi" 23 B ~ ~ 145. What 1s the remainder when 

~ ~ ~ ~ ? (1 /
3 
+ 23

23 
+ 29

23
) is divided by 23 ? 

(1) 0 (1) 0 

(2) 1 (2) 

(3) 2 (3) 2 

(4) 3 (4) 3 

"{tfi q;r.f ~ ~ ~/SPACE FOR ROUGH WORK 

Level-2/3210 
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146. ~ ~ Till i:i' n, ~ ~ 911" clfIB . 

26 WlT ~ '3ffi 24 Wlt ~ · ~ MN, 

\j~HiRi:h ~ q"{ ~~ff ~ I -Jil.flRch ~ ~ 
~ cp:ff t· ? 

(1) 5 WlT 

(3) 8 WlT 

(2) 6 "@ft 

(4) 10 °@ft 

147. 9 °@ft ~ cf@" .ol"ff ~ ~ ©lilch< ~ 
0.4 BllT o!:!IB c!T~ Qch{i~l1 ~ cB1' ~ 
cFlT i ? 

(1) 243 ~ 

(3) 60.75 ~ 

~2) 240 l:lT 
(4) 60 l:lT 

148. ~ a - b = 4 Jffi / + b
2 

= 40 ~' ~ 

a ~ b ~ ~ ~' ill a3 + . b 
6 

~~~? 

(1) 264 

(3) 300 

(2) 280 

(4) 324 . 

I BI 

146. Out or two concentric circles, the 

di ameter of the outer circle is 26 cm and 

the chord MN of length 24 cm ·is 

tangent to the inner circle . The radius of 

the inner circle is : 

(1) 5 cm 

(3) 8 cm 

(2) 6 cm 

(4)° 10 cm 

147. What is the length of the uniform wire 

of diameter 0.4 cm that can be drawn 

from a sol id sphere of radius 9 cm ? 

(I) 243 m 

(3) 60.75 m 

(2) 240 m 

(4) 60 m 

2 2 
148. If a - b = 4 and a + b = 40, where a 

and b are positive integers, then a
3 

+ b 
6 

is equal to : 

(1) 264 

(3) 300 

(2) 280 

(4) 324 

~ .ffi ~ ~ ~/SPACE FOR ROUGH WORK 

"":I 
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[ B] 

149. 4 Wlt '3{t"{ 8 Wlt cfi ~~T: ~ '3ffi 
~ am:n- q@ qcp ~ ~ c€t ~ 
8 Wlt cllTB cfi '3TTmr cTiffi ~ ire ~ 
~~i1~~ctt~cf<lT~? 

(l)_ 11 Wlt 

(2) 12 Wlt 

(3) 14 Wlt 

(4) 16 Wlt 

150. ~ ABC if AD, A "fi~ ~ ~ 
i '3tr{ E, AD c.fiT l'.ftZl ~ ~ aen- BE 

~ q{ AC cf?t F q"{ ~ ~ ' AF 

~ ~ ~? 

(1) 
AC 

5 

(2) 
AC 

4 

(3) 
AC -
3 

(4) 
AC 

2 

146 J 

149. A hollow sphere of internal and external 

diameters 4 cm and ·8 cm, respectively is 

melted into a solid cone of base 

diameter 8 cm. The height of the cone is : 

(I) 11 cm 

(2) 12 cm 

(3) 14 cm 

(4) 16 cm 

150. In a ts.A BC. AD is the median through A 
and E is the mid point of AD, and BE 
produced meets AC at F, then AF is 
equal to : 

(1) 
AC 

5 

(2) 
AC 

4 

(3) 
AC 

3 

(4) 
AC 
-

2 

~ q;l'f ii; f.!l( "l'lif/SPACE FOR ROUGH W{ rK 

. ~ .if I rfoc ~p: 
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